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QUESTION 1

Your development team wants to use Google Guice. A previous architect assigned this request a low priority, citing the
complexity of integration and no compelling benefits statements from the requesting team.

The team claims that their colleagues have achieved the integration using a pattern. This pattern reduced the level of
difficulty and risk and did not require vendor support.

Which pattern fits this description?
A. Context Holder

B. Service Starter

C. Dependency Injection Extender
D. Bean Locator

Correct Answer: C

QUESTION 2

A business application that runs in an Enterprise JavaBeans (EJB) container must communicate with a transactional
third-party service. The communication technology must allow changing service providers without changing the
application\\'s business model.

Which technology would meet these requirements?

A. Java Message Service

B. Remote Method Invocation

C. Simple Object Access Protocol

D. Java Connector Architecture

E. Java Business Integration

Correct Answer: A

QUESTION 3

A manufacturing company has a large investment in a legacy Inventory Management System (IMS) developed with third-
party technologies. You have been asked to design a Java EE application that interacts with it.

You would like to ensure the following:
Minimal application code is required to parse the communication messages.

Communication is asynchronous and stateless.
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Performance import of the existing system is minimal.
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Which two technologies combined would meet these requirements?
A. XML

B. JSON

C. RMI

D. JAX-RS

E. JAX-WS

Correct Answer: BD

QUESTION 4

You are the architect at ACME, a large a large global retailer of festival and holiday accessories. ACME wants to launch
a new shopping portal for the holiday shopping session, allowing two months from project inception to going live. The
portal must contain in-house and third-party stock to attack customers.

Fast response times are also critical so users remain engaged and sticky to the portal.

What would you recommend to the ACME project team to deliver this project?

A. Access all third party content using JSONP to dynamically load it from the browser.

B. Access as much content with bulk-loading as possible; use JSONP to access the remainder.

C. Access all content regardless of source using the HTML 5 XML parsing capabilities of the browser

D. Access all third party content using JSON to dynamically load it from the browser.

Correct Answer: A

QUESTION 5

Which two functions are essential parts of a service oriented architecture (SOA) infrastructure?
A. The service provider, which executes business logic in a stateless fashion

B. The service consumer, which accesses services from the service repository

C. The service repository, which stores software component metadata

D. The service broker, which delivers well-defined service-level agreements

E. The service look-up facility, which provides a central resource for naming and access

Correct Answer: AC
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